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Critical Reasoning Practice Questions 
(Answers and explanations in the end) 

 
1. Voter turnout remains low in many democratic societies, limiting the 

representational aspect of governance. Engaging citizens is crucial for a 
healthy democracy. What should be the primary focus to enhance voter 

participation? 

A. Implement stricter voter ID laws 

B. Conduct public outreach programs to educate citizens on voting 

C. Increase the number of political ads on TV 

D. Shorten the voting period to decrease wait times 

E. Reduce penalties for failing to vote 

 

2. Racial disparities in sentencing have raised concerns about equality in 

the judicial system. Advocates argue that justice is not served when 

individuals of different races receive disparate punishments for similar 

offenses. What strategy is most effective for achieving greater equity in 

sentencing? 
A. Establish mandatory minimum sentences for all offenses 

B. Implement training programs focused on implicit bias for judges 

C. Abolish the parole system to maintain strict sentences 

D. Increase funding for private prisons to expand capacity 

E. Expand the use of mandatory sentencing guidelines nationwide 

 

3. A new marketing campaign for a popular brand of sneakers is focused 

on highlighting the eco-friendly materials used in their production. To 

measure the campaign's effectiveness, the company plans to track sales of 

the sneakers over the next quarter. Which of the following, if true, would 

most strengthen the argument that the campaign is effective? 

A. The company has also launched a new line of eco-friendly clothing 
that is being promoted in the same campaign. 

B. The company's competitors have not launched any new marketing 

campaigns during this period. 

C. Consumer surveys conducted before the campaign showed a strong 

preference for eco-friendly products. 

D. The company has increased its advertising budget for traditional 

media outlets. 
E. The company has partnered with several environmental organizations 

to promote the campaign. 

 

4. A pharmaceutical company faces a dilemma when it discovers a serious 

side effect associated with a newly approved drug. While the company is 
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under pressure to inform the public and regulatory agencies, it also fears 

that disclosing the side effect could damage its reputation and lead to costly 

lawsuits. Which of the following is an assumption underlying the company's 
decision to withhold information about the side effect? 

A. The regulatory agency will not take any punitive action against the 

company. 

B. The public will not react negatively to the news of the side effect. 

C. The company's competitors will not exploit the situation. 

D. The company will be able to develop a solution to the side effect. 
E. The company will not face significant financial losses due to the 

disclosure. 

 

5. A company is considering outsourcing its customer service department 

to a foreign country. The company believes that this will reduce costs. 

However, some customers may be concerned about the quality of customer 
service. Which of the following can be inferred from the information above? 

A. The company is prioritizing cost savings over customer satisfaction. 

B. The company's customers will be satisfied with the outsourced 

customer service. 

C. The company is facing financial difficulties. 

D. The company's employees will be happy about the outsourcing 
decision. 

E. The company's competitors are also outsourcing their customer 

service. 

 

6. A company is considering implementing a flexible work arrangement that 

allows employees to work from home for a portion of the week. The 

company believes that this will improve employee satisfaction and 
productivity. Which of the following, if true, would most strengthen the 

argument? 

A. The company has experienced a decrease in employee turnover in 

recent years. 

B. The company has conducted a survey that shows employees are 

interested in flexible work arrangements. 
C. The company's competitors have already implemented flexible work 

arrangements. 

D. The company's industry is highly competitive. 

E. The company's employees are primarily young professionals. 

 

7. A project manager is planning to use a new project management 
software to improve efficiency and collaboration on a complex project. 

Which of the following, if true, would most strengthen the argument? 

A. The project manager has used the software successfully on previous 

projects. 
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B. The software is expensive to purchase and implement. 

C. The project team members are resistant to change. 

D. The software requires significant training for the project team. 

E. The software is not compatible with the company's existing systems. 

 

8. A city has implemented a recycling program. The city believes that the 

program will help to reduce waste and conserve resources. However, some 

residents are concerned that the program may be inconvenient. Which of 

the following statements draws the most reliable conclusion from the 
information above? 

A. The recycling program will be successful. 

B. The recycling program will be unpopular with residents. 

C. The recycling program will have a negative impact on the 

environment. 

D. The recycling program will increase the city's taxes. 
E. The recycling program may be inconvenient for some residents. 

 

9. A diplomat argues that economic sanctions are an effective tool for 

influencing the behavior of foreign governments. Which of the following, if 

true, would most weaken the argument? 

A. Economic sanctions can have unintended consequences, such as 
harming innocent civilians.    

B. Economic sanctions are often supported by international 

organizations.    

C. Economic sanctions can be difficult to enforce, especially against 

countries with strong economic ties. 

D. Economic sanctions have been used successfully to achieve 

diplomatic goals in the past. 
E. Economic sanctions can be a powerful tool for exerting pressure on 

foreign governments.    

 

10. A school district is considering implementing a new curriculum that 

focuses on teaching students critical thinking skills. The district believes 

that this will improve student performance on standardized tests. Which of 
the following, if true, would most strengthen the argument? 

A. The district's students have been underperforming on standardized 

tests in recent years. 

B. The new curriculum is more expensive to implement than the current 

curriculum. 

C. The teachers in the district are resistant to change. 
D. The new curriculum requires significant training for the teachers. 

E. The district's students are primarily from low-income families. 
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11. Geopolitical tensions are rising between established powers and 

emerging nations, leading to fears of conflict. Diplomats seek non-military 

methods to stabilize relations and foster cooperation. What course of action 
is most likely to promote diplomatic relationships? 

A. Increase military presence in contested regions 

B. Implement strict trade sanctions on rival nations 

C. Organize diplomatic summits to discuss common interests 

D. Limit immigration from politically unstable nations 

E. Withdraw from existing trade agreements 

 

12. Diversity in sports teams has been shown to improve team 

performance, yet many organizations still struggle with inclusivity. This 

imbalance raises questions about how to attract talent from 

underrepresented groups. What is the best course of action sports 

organizations should take to promote diversity? 
A. Implement recruitment quotas for underrepresented groups 

B. Form partnerships with community organizations to build interest 

C. Focus recruitment efforts solely on affluent communities 

D. Organize workshops on team dynamics for existing players only 

E. Require all players to have prior international experience 

 

13. An agricultural expert argues that genetically modified crops are 

harmful to human health. Which of the following, if true, would most 

weaken the argument? 

A. Genetically modified crops have been consumed by humans for many 

years without any reported health problems.    

B. Genetically modified crops can be more resistant to pests and 

diseases.    
C. Genetically modified crops can be produced more efficiently than 

traditional crops. 

D. Some consumers are concerned about the potential long-term health 

effects of genetically modified crops.    

E. Genetically modified crops can be more expensive to produce than 

traditional crops. 

 

14. A new political party has been formed. The party's platform focuses on 

social justice and economic equality. However, some critics argue that the 

party's policies are unrealistic. Which of the following can be inferred from 

the information above? 

A. The new political party will be successful in the next election. 
B. The new political party's policies are unpopular with voters. 

C. The new political party is a threat to democracy. 

D. The new political party is not serious about its platform. 
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E. The new political party may face challenges in implementing its 

policies. 

 

15. Financial literacy remains low among younger demographics, leading 

to struggles with budgeting, saving, and investing. Efforts to improve 

financial understanding can aid in building better economic futures. Which 

initiative would best enhance financial literacy among youth? 

A. Provide financial education classes in schools 

B. Focus on promoting high-interest credit cards 
C. Encourage students to rely on family for financial advice 

D. Increase the number of cash transactions to avoid credit dependency 

E. Limit access to bank services for minors 

 

16. A bank is considering offering a new type of savings account with a 

higher interest rate than its traditional savings accounts. The bank believes 
that this will attract new customers and increase its deposits. Which of the 

following, if true, would most strengthen the argument? 

A. Option A: The bank's competitors are also offering higher interest 

rates on their savings accounts. 

B. Option B: The bank has increased its marketing budget for the new 

savings account. 
C. Option C: The bank has conducted market research that shows a 

strong preference for higher interest rates. 

D. Option D: The bank's customers are primarily interested in 

convenience and accessibility. 

E. Option E: The bank's profits have been declining in recent years. 

 

17. A sports analyst argues that the popularity of professional sports 
leagues has declined in recent years due to the increasing availability of 

streaming services. Which of the following, if true, would most weaken the 

argument? 

A. Streaming services have increased the accessibility of sports content 

for many fans.    

B. The popularity of fantasy sports leagues has increased in recent 
years. 

C. The average age of sports fans has decreased in recent years. 

D. Ticket prices for professional sports games have increased 

significantly in recent years.    

E. The number of people who watch sports on television has remained 

relatively constant. 

 

18. A technology company is considering investing in a new research and 

development project. The company believes that the project has the 
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potential to develop a groundbreaking new product. However, there is also 

a risk that the project may fail, resulting in a significant loss of investment. 

Which of the following is an assumption underlying the company's decision 
to invest in the research and development project? 

A. The project will be successful. 

B. The company will be able to recoup its investment even if the project 

fails. 

C. The company's competitors will not develop a similar product. 

D. The market will be receptive to the new product. 

E. The project will not require additional funding. 

 

19. A company decides to implement a new performance appraisal system. 

The company believes that the new system will improve employee morale 

and productivity. However, there is also a risk that the system may be 

perceived as unfair or subjective. Which of the following is an assumption 
underlying the company's decision to implement a new performance 

appraisal system? 

A. The employees will accept the new system. 

B. The new system will improve employee morale. 

C. The new system will be fair and objective. 

D. The new system will not negatively impact employee productivity. 

E. The new system will not be too costly to implement. 

 

20. A government is considering implementing a new tax on sugary drinks. 

The government believes that the tax will reduce obesity rates. However, 

some critics argue that the tax will disproportionately affect low-income 

individuals. Which of the following can be inferred from the information 

above? 
A. The government is prioritizing public health over economic concerns. 

B. The new tax will be popular with consumers. 

C. The new tax will have no impact on obesity rates. 

D. The new tax will be unfair to low-income individuals. 

E. The new tax will increase government revenue. 

 

21. A financial advisor argues that investing in cryptocurrency is a risky 

endeavor due to the volatility of the market. Which of the following, if true, 

would most weaken the argument?    

A. Cryptocurrency markets have experienced significant fluctuations in 

recent years.    

B. Many governments and financial institutions have expressed 
concerns about the risks associated with cryptocurrency. 

C. Cryptocurrency is not backed by any physical asset.    

D. Investing in cryptocurrency is highly speculative and can result in 

significant losses.    
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E. Some investors have made substantial profits from investing in 

cryptocurrency. 

 

22. A company decides to launch a new product in a foreign market. The 

company believes that the product will be successful in the foreign market, 

but there are also risks involved, such as cultural differences and 

competition from local brands. Which of the following is an assumption 

underlying the company's decision to launch a new product in a foreign 

market? 
A. The product will be successful in the foreign market. 

B. The company will be able to overcome cultural barriers. 

C. The company will be able to compete with local brands. 

D. The company will be able to distribute the product effectively. 

E. The company's customers will be willing to pay a premium price for 

the product. 

 

23. A bank decides to offer a new type of loan product. The bank believes 

that the loan product will be profitable and meet the needs of its customers. 

However, there is also a risk that the loan product may be affected by 

changes in interest rates or economic conditions. Which of the following is 

an assumption underlying the bank's decision to offer a new loan product? 
A. The loan product will be profitable. 

B. The loan product will meet the needs of the bank's customers. 

C. The loan product will not be affected by changes in interest rates. 

D. The loan product will not be subject to regulatory restrictions. 

E. The bank will be able to manage the risk associated with the loan 

product. 

 

24. The stigma surrounding mental health has created barriers to 

treatment for many individuals. The reluctance to seek help can lead to 

worsening conditions, affecting productivity and quality of life. Which action 

would be most suitable to reduce mental health stigma in society? 

A. Launch aggressive ad campaigns that highlight individual cases of 

mental illness 
B. Encourage storytelling through public forums to share personal 

experiences 

C. Increase funding for involuntary treatment programs 

D. Focus solely on treating severe cases through medical institutions 

E. Penalize employers who fail to provide mental health support 

 

25. A tech company is considering acquiring a smaller startup specializing 

in artificial intelligence. The company believes that this acquisition will 

enhance its technological capabilities and provide a competitive edge in the 
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market. However, there are several potential risks involved, such as 

integration challenges and the possibility that the startup's technology may 

not be compatible with the company's existing systems. Which of the 
following is an assumption underlying the company's decision to acquire 

the startup? 

A. The startup's employees will be willing to join the larger company. 

B. The acquisition will not negatively impact the company's financial 

performance. 

C. The company's customers will value the added technological 
capabilities. 

D. The acquisition will not face regulatory hurdles. 

E. The startup's technology will be easily integrated into the company's 

existing systems. 

 

26. A project manager decides to use a new project management 
methodology. The project manager believes that the new methodology will 

be more efficient and effective than the old one. However, there is also a 

risk that the project team may resist change or that the new methodology 

may not be compatible with the company's existing systems. Which of the 

following is an assumption underlying the project manager's decision to use 

a new project management methodology? 
A. Option A: The new methodology will be effective. 

B. Option B: The project team will be able to adapt to the new 

methodology. 

C. Option C: The project will be completed on time and within budget. 

D. Option D: The project will meet the needs of the stakeholders. 

E. Option E: The new methodology will not require additional resources. 

 

27. A new teaching method is being implemented in a school district. The 

district believes that the new method will improve student test scores. 

However, some teachers are concerned that the method may be too 

demanding for students. Which of the following can be concluded from the 

information above? 

A. The new teaching method will be successful in improving student test 
scores. 

B. The new teaching method may not be suitable for all students. 

C. The teachers are resistant to change. 

D. The new teaching method is too demanding for students. 

E. The school district is making a mistake in implementing the new 

teaching method. 

 

28. A new retail store has opened in a shopping mall. The store offers a 

wide variety of products at competitive prices. However, the store has been 
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struggling to attract customers. Which of the following statements draws 

the most reliable conclusion from the information above? 

A. The store's prices are too high. 
B. The store is not well-located. 

C. The store's marketing efforts are ineffective. 

D. The store's products are not in demand. 

E. The store's hours of operation are inconvenient. 

 

29. A company has implemented a policy of using only sustainable 
materials in its products. The company believes that this will improve its 

reputation and attract more customers. However, some critics argue that 

the policy will increase the cost of the company's products. Which of the 

following statements draws the most reliable conclusion from the 

information above? 

A. The company's policy will be successful in improving its reputation. 
B. The company's policy will increase the cost of its products. 

C. The company's policy will have a negative impact on its profits. 

D. The company's policy will not attract more customers. 

E. The company's policy is unethical. 

 

30. A new medical treatment has been developed that is more effective 
than traditional treatments. However, the new treatment is also more 

expensive. Which of the following statements draws the most reliable 

conclusion from the information above? 

A. The new medical treatment will not be widely adopted. 

B. The new medical treatment is not worth the cost. 

C. The new medical treatment will revolutionize healthcare. 

D. The new medical treatment will become more affordable in the future. 
E. The new medical treatment will have a positive impact on patient 

outcomes. 

 

31. A company is considering expanding into a new market. The company 

believes that there is a strong demand for its products in the new market. 

However, there are also risks involved, such as competition from local 
businesses and cultural differences. Which of the following can be inferred 

from the information above? 

A. The company is confident in its ability to succeed in the new market. 

B. The company is not aware of the risks involved in expanding into the 

new market. 

C. The company is prioritizing short-term profits over long-term 
sustainability. 

D. The company is not doing enough research on the new market. 

E. The company is not taking into account the potential benefits of 

expanding into the new market. 
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32. As the effects of climate change become increasingly apparent, 

transitioning to renewable energy sources is critical for sustainable 
development. Countries face pressure to meet emissions targets while also 

ensuring energy security. Which action would be the most effective in 

accelerating the shift to renewable energy? 

A. Increase fossil fuel subsidies to stabilize the economy 

B. Initiate tax incentives for renewable energy investments 

C. Limit research funding for alternative energy technologies 
D. Mandate that all households use fossil fuels 

E. Focus solely on large-scale renewable projects, ignoring local 

initiatives 

 

33. A new law has been passed that increases penalties for drunk driving. 

The government believes that the law will deter people from driving under 
the influence. However, some critics argue that the law will 

disproportionately affect low-income individuals. Which of the following 

conclusions can be drawn from the information above? 

A. The new law will be effective in reducing drunk driving. 

B. The new law will be unfair to low-income individuals. 

C. The new law will increase the number of people who are arrested for 
drunk driving. 

D. The new law will have a negative impact on the economy. 

E. The new law will not be popular with the public. 

 

34. A new social media platform has been launched that allows users to 

connect with people from all over the world. However, some critics argue 

that the platform can be used to spread misinformation and hate speech. 

What can be concluded from the information above? 

 

A. The new social media platform will be a positive force for change. 

B. The new social media platform will be harmful to society. 

C. The new social media platform will be popular with young people. 

D. The new social media platform will be banned by governments. 
E. The new social media platform will have both positive and negative 

consequences. 

 

35. A new sports league has been formed. The league is hoping to attract 

a large audience and become a major competitor to established leagues. 

However, some critics argue that the league is not sustainable. Which of 
the following statements draws the most reliable conclusion from the 

information above? 
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A. The new sports league will be successful. 

B. The new sports league will not be popular with fans. 

C. The new sports league will be expensive to operate. 
D. The new sports league will not be able to compete with established 

leagues. 

E. The new sports league may not be sustainable in the long term. 

 

36. A company is facing a dilemma. The company can either continue to 

use a harmful chemical in its products, or it can switch to a safer alternative. 
The safer alternative is more expensive. Which of the following can be 

inferred from the information above? 

A. The company is prioritizing profits over ethics. 

B. The company's customers will not care about the harmful chemical. 

C. The company will switch to the safer alternative. 

D. The company will face legal consequences if it continues to use the 
harmful chemical. 

E. The company's competitors will also be using the harmful chemical. 

 

37. A person decides to quit their job and start their own business. They 

believe that they have the skills and experience to be successful 

entrepreneurs. However, starting a business involves significant risks, such 
as financial uncertainty and the possibility of failure. Which of the following 

is an assumption underlying the person's decision to start their own 

business? 

A. The person will be able to generate enough revenue to make a profit. 

B. The person will be able to manage the risks associated with starting 

a business. 

C. The person will enjoy being their own boss. 
D. The person will be able to find a suitable location for their business. 

E. The person will not miss their previous job. 

 

38. A new highway is being built to connect two major cities. The 

government believes that the highway will improve transportation and 

economic development. However, some environmentalists are concerned 
that the highway will harm the environment. Which of the following can be 

inferred from the information above? 

A. The government is prioritizing economic development over 

environmental concerns. 

B. The new highway will be unpopular with residents. 

C. The new highway will increase traffic congestion. 
D. The new highway will be a waste of money. 

E. The new highway will have a positive impact on the economy. 
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39. A new financial product has been introduced that promises high returns 

with low risk. However, some financial experts are skeptical. Which of the 

following statements draws the most reliable conclusion from the 
information above? 

A. The new financial product is a good investment. 

B. The new financial product is too risky. 

C. The new financial product will be popular with investors. 

D. The new financial product is a scam. 

E. The new financial product may not be as profitable as advertised. 

 

40. A government is considering implementing a carbon tax to reduce 

greenhouse gas emissions. Supporters of the tax argue that it will 

incentivize businesses and individuals to adopt more environmentally 

friendly practices. However, critics contend that the tax will increase costs 

for consumers and harm the economy. Which of the following is an 
assumption underlying the government's decision to implement a carbon 

tax? 

A. The carbon tax will be effective in reducing greenhouse gas 

emissions. 

B. The carbon tax will not lead to significant job losses. 

C. The carbon tax will not be passed on to consumers in the form of 
higher prices. 

D. The carbon tax will not have a negative impact on the economy. 

E. The carbon tax will be accepted by the public. 

 

41. Urban areas increasingly face congestion and pollution due to rising 

vehicle numbers. Addressing these challenges necessitates a multifaceted 

transportation strategy. Which action should cities prioritize to improve 
urban transportation? 

A. Expand highways to accommodate more vehicles 

B. Invest in public transportation systems and infrastructure 

C. Encourage the use of personal vehicles through tax rebates 

D. Increase tolls on public transportation to fund road repairs 

E. Implement measures that discourage cycling and walking 

 

42. A person is considering quitting their job and starting their own 

business. The person believes that they have the skills and experience to 

be successful. However, there are also risks involved, such as financial 

uncertainty and the possibility of failure. Which of the following can be 

inferred from the information above? 
A. The person is risk-averse. 

B. The person is confident in their abilities. 

C. The person is not prepared to start their own business. 

D. The person is afraid of failure. 
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E. The person is not considering the potential benefits of starting their 

own business. 

 

43. A company is considering launching a new product. The company 

believes that the product will be successful. However, there are also risks 

involved, such as competition from other companies and economic 

uncertainty. Which of the following can be inferred from the information 

above? 

A. The company is not aware of the risks involved in launching a new 
product. 

B. The company is confident in the product's success. 

C. The company is not doing enough research on the new product. 

D. The company is prioritizing short-term profits over long-term 

sustainability. 

E. The company's competitors are not aware of the new product. 

 

44. A bank is considering raising interest rates on its loans. The bank 

believes that this will increase its profits. However, there is also a risk that 

higher interest rates will deter borrowers. Which of the following can be 

inferred from the information above? 

A. The bank is prioritizing short-term profits over long-term 
sustainability. 

B. The bank is not aware of the risks involved in raising interest rates. 

C. The bank's customers will not be affected by higher interest rates. 

D. The bank is confident in the economy's strength. 

E. The bank's competitors are not planning to raise interest rates. 

 

45. The increasing prevalence of antibiotic-resistant infections presents a 
significant challenge to modern medicine, risking the effectiveness of 

treatments for common ailments. Health officials are concerned that, if 

unaddressed, this trend could lead to a resurgence of diseases that were 

once manageable. Which of the following actions should be prioritized to 

combat antibiotic resistance effectively? 

A. Develop new antibiotics to outpace resistance development 
B. Encourage the use of antibiotics for all ailments as a preventive 

measure 

C. Promote public education on the proper use of antibiotics 

D. Mandate that all medical professionals prescribe antibiotics for viral 

infections 

E. Limit research funding for alternative treatments 

 

46. A company is facing declining profits. The company's CEO believes that 

the problem is due to a lack of innovation. The CEO has decided to 
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implement a new strategy that focuses on innovation. Which of the 

following can be inferred from the information above? 

A. The CEO is not confident in the company's current strategy. 
B. The company's employees are resistant to change. 

C. The company's competitors are more innovative. 

D. The company's customers are not satisfied with its products. 

E. The company's financial problems are due to poor management. 

 

47. An environmentalist argues that renewable energy sources are not a 
viable alternative to fossil fuels because they are too expensive to produce. 

Which of the following, if true, would most weaken the argument? 

A. The cost of renewable energy sources has decreased significantly in 

recent years.    

B. Renewable energy sources are subject to fluctuations in supply. 

C. Renewable energy sources require significant upfront investments.    
D. Renewable energy sources do not produce greenhouse gas emissions. 

E. Renewable energy sources are not suitable for all regions.    

 

48. A company decides to offer flexible work arrangements to its 

employees. The company believes that this will improve employee morale 

and productivity. However, there is also a risk that flexible work 
arrangements may be difficult to manage and could lead to decreased 

collaboration among employees. Which of the following is an assumption 

underlying the company's decision to offer flexible work arrangements? 

A. Employees will be more productive if they have flexible work 

arrangements. 

B. Employees will be satisfied with the flexible work arrangements. 

C. The company will be able to maintain a high level of productivity. 
D. The company will be able to attract and retain top talent. 

E. The company will not experience any negative consequences as a 

result of offering flexible work arrangements. 

 

49. As climate change impacts agriculture, food security becomes a critical 

concern. The industry must adapt to maintain crop yields and sustainable 
practices. What is the most effective action to ensure food security in the 

face of climate change? 

A. Increase subsidies for traditional farming practices 

B. Invest in research on climate-resilient crops 

C. Promote monoculture farming to maximize yield 

D. Promote organic farming without considering climate adaptation 

E. Restrict access to genetically modified organisms (GMOs) 
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50. A new technology has been developed that can significantly reduce 

energy consumption. However, the technology is expensive to implement. 

Which of the following statements draws the most reliable conclusion from 
the information above? 

A. The new technology will not be widely adopted. 

B. The new technology is not worth the cost. 

C. The new technology will revolutionize the energy industry. 

D. The new technology will be more affordable in the future. 

E. The new technology will have a positive impact on the environment. 
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Answers and Explanations 

 

1. B: Public outreach programs aimed at educating voters on the 

importance of participation, voting processes, and candidates can foster a 

culture of engagement and responsibility. Increasing awareness and 

understanding can ultimately lead to higher turnout rates and a more 
representative democracy. 
2. B: Providing training on implicit biases can equip judges with the tools 

to recognize and counteract their own preconceived notions. This 

awareness is essential in promoting fair and impartial sentencing practices, 

fostering a judicial environment where equity isn't merely aspirational but 

actualized. 

3. C: This option directly supports the argument by showing that there was 
a pre-existing demand for eco-friendly products. The other options either 

provide irrelevant information or weaken the argument. 

4. D: The company's decision to withhold information about the side effect 

is likely based on the assumption that it can find a way to address the issue. 

If no solution is found, the company may face serious legal and reputational 

consequences. 
5. A: The information suggests that the company is considering outsourcing 

to reduce costs, implying that it is prioritizing cost savings over customer 

satisfaction. 

6. C: This option directly supports the argument by showing that there is a 

desire among employees for flexible work arrangements. The other options 

either provide irrelevant information or weaken the argument. 
7. A: This option directly supports the argument by showing that the 

software has been effective in the past. The other options either provide 

irrelevant information or weaken the argument. 

8. E: The information suggests that some residents are concerned about 

the inconvenience of the recycling program. 

9. A: This option directly contradicts the argument by showing that 
economic sanctions can have negative consequences. The other options 

either provide irrelevant information or strengthen the argument. 

10. A: This option directly supports the argument by showing that there is 

a need for improvement in student performance. The other options either 

provide irrelevant information or weaken the argument 

11. C: Facilitating diplomatic summits creates opportunities for dialogue, 

allowing nations to explore shared interests, address grievances, and build 
trust. Open communication is essential for reducing tensions and finding 

cooperative solutions to global issues, ultimately fostering a more stable 

international landscape. 

12. B: By collaborating with community organizations, sports teams can 

create pathways for underrepresented groups to engage with the sport 

from a young age. Partnerships can lead to outreach programs that raise 
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awareness, provide training, and foster a love for the sport, leading to a 

more diverse talent pool. 

13. A: This option directly contradicts the argument by showing that 
genetically modified crops have been consumed safely for a long time. The 

other options either provide irrelevant information or strengthen the 

argument. 

14. E: The information suggests that some critics believe the party's 

policies are unrealistic, implying that the party may face challenges in 

implementing them. 
15. A: Implementing mandatory financial education in schools is crucial for 

fostering early understanding of personal finance concepts. This initiative 

equips students with the necessary skills to handle their finances wisely, 

promoting responsible behavior that can lead to improved economic 

outcomes throughout their lives. 

16. C: This option directly supports the argument by showing that there is 
a market demand for the new savings account. The other options either 

provide irrelevant information or weaken the argument. 

17. E: This option directly contradicts the argument by showing that 

television viewership has remained stable. The other options either provide 

irrelevant information or strengthen the argument. 

18. A: The company's decision to invest in the research and development 
project is based on the assumption that the project will be successful. If 

the project fails, the company may face significant financial losses. 

19. B: The company's decision to implement a new performance appraisal 

system is based on the assumption that it will improve employee morale. 

If employees perceive the system as unfair or subjective, it may have the 

opposite effect. 

20. A: The information suggests that the government believes the tax will 
reduce obesity rates, implying that it is prioritizing public health over 

economic concerns. 

21. E: This option directly contradicts the argument by showing that there 

have been successful investments in cryptocurrency. The other options 

either provide irrelevant information or strengthen the argument. 

22. A: The company's decision to launch a new product in a foreign market 
is based on the assumption that the product will be successful in the foreign 

market. If the product is not well-received by consumers in the foreign 

market, the launch may be a failure. 

23. A: The bank's decision to offer a new loan product is based on the 

assumption that it will be profitable. If the loan product does not generate 

sufficient revenue, the bank may face financial losses. 
24. B: Personal stories have the power to humanize mental health issues, 

foster empathy, and reduce stigma. By creating safe spaces for individuals 

to share their experiences, we can challenge misconceptions and normalize 

discussions about mental health, ultimately encouraging more people to 

seek help. 

25. C: The company's decision to acquire the startup is based on the 
assumption that its customers will value the added technological 
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capabilities. If customers do not find the new technology valuable, the 

acquisition may not be successful. 

26. A: The project manager's decision to use a new project management 
methodology is based on the assumption that it will be effective. If the new 

methodology does not improve project outcomes, the project manager may 

need to reconsider their decision. 

27. B: The information suggests that some teachers are concerned that the 

new method may be too demanding, implying that it may not be suitable 

for all students. 
28. C: The information suggests that despite offering competitive prices 

and a wide variety of products, the store is still struggling to attract 

customers. This suggests that its marketing efforts may be ineffective. 

29. B: The information explicitly states that the policy will increase the cost 

of the company's products. 

30. E: The information explicitly states that the new treatment is more 
effective, which implies that it will have a positive impact on patient 

outcomes. 

31. A: The information suggests that the company believes there is a strong 

demand for its products in the new market, implying that it is confident in 

its ability to succeed. 

32. B: Tax incentives can lower barriers to entry for companies and 
individuals looking to invest in renewable energy projects. By fostering a 

favorable financial environment, governments can stimulate growth in the 

renewable sector, accelerate the energy transition, and ultimately 

contribute to lowering greenhouse gas emissions. 

33. B: The information suggests that the law may disproportionately affect 

low-income individuals, implying that it may be unfair. 

34. E: The information suggests that the platform has both potential 
benefits and risks, implying that it will have both positive and negative 

consequences. 

35. E: The information suggests that some critics believe the league may 

not be sustainable, implying that it may not be able to survive in the long 

term. 

36. A: The information suggests that the company is faced with a choice 
between profits and ethics, implying that it may prioritize profits. 

37. A: The person's decision to start their own business is based on the 

assumption that they will be able to generate enough revenue to make a 

profit. If the business is not profitable, the person may face financial 

difficulties.  

38. A: The information suggests that the government believes the highway 
will improve transportation and economic development, implying that it is 

prioritizing economic concerns over environmental concerns. 

39. E: The information suggests that some financial experts are skeptical 

of the product's claims, implying that it may not be as profitable as 

advertised. 

40. A: The government's decision to implement a carbon tax is based on 
the assumption that it will be effective in reducing greenhouse gas 
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emissions. If the tax does not achieve its intended goal, it may be 

considered a failure. 

41. B: Investing in public transportation reduces reliance on personal 
vehicles, alleviating congestion and lowering emissions. Efficient public 

transport systems enhance mobility, provide cost-effective travel options, 

and can significantly improve the overall quality of urban life. 

42. B: The information suggests that the person believes they have the 

skills and experience to be successful, implying that they are confident in 

their abilities. 
43. B: The company's belief that the product will be successful suggests 

that it is confident in the product's potential. 

44. A: The bank's decision to raise interest rates suggests that it is 

prioritizing short-term profits, as higher interest rates may deter borrowers 

in the long term. 

45. C: Educating the public about responsible antibiotic use is critical to 
preventing misuse and overprescription. This approach fosters awareness 

about when antibiotics are necessary, thus reducing the selection pressure 

that drives antibiotic resistance. Over time, improved understanding will 

likely lead to more judicious use of these vital medications, preserving their 

effectiveness for future generations. 

46. A: The CEO's belief that the company's declining profits are due to a 
lack of innovation indicates that he or she is dissatisfied with the company's 

current strategy. This suggests that the CEO feels the need for a shift 

towards a more innovative approach.   

47. A: This option directly contradicts the argument by showing that the 

cost of renewable energy has decreased. The other options either provide 

irrelevant information or strengthen the argument. 

48. A: The company's decision to offer flexible work arrangements is based 
on the assumption that it will improve employee productivity. If flexible 

work arrangements do not lead to increased productivity, the company may 

reconsider its decision. 

49. B: Research into climate-resilient crops equips farmers with the tools 

to adapt their practices to changing climatic conditions. This proactive 

approach is essential for maintaining productivity and ensuring food 
security, enabling agriculture to thrive in a more unpredictable 

environment. 

50. E: The new technology's ability to significantly reduce energy 

consumption is a clear benefit that will positively impact the environment. 

This conclusion can be drawn directly from the information provided, 

regardless of the technology's initial cost. While the technology may be 
expensive, it is designed to reduce energy consumption, which would have 

a positive impact on the environment. 
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